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TOCTY, PEMON TOTIO, BRI :
General Instructions to the Candidate :
83 %%ﬁ%@ofm 34 6@38’3 EANICH) 3385033338’5: Ivplatelevy @%ﬁ@é@{ TRODT.
This Question Paper consists of 34 objective and subjective types of
question.

83 %%ﬁ%@oﬁadod &mésa 2T PRVT BRT (2)669) TRESING. ﬁ@@%
59,0083 553033%9% ?SZDé %0{5%@053 IAISINIA) mggw@ 330X,
BB BLTONY DT BNy VEdodhe 0T TOES AR,

This question paper has been sealed by reverse jacket. You have to cut on
the right side to open the paper at the time of commencement of the

examination. Check whether all the pages of the question paper are
intact.

5:33&@ FR &aﬁoﬁa&)ag BIVTTOOD e,_"g)%m?ﬁ E?Jaéédaﬁ mzﬁﬁﬁ@@ SO,
Follow the instructions given against both the objective and subjective
types of questions.

0O PINEY E?Jaéadoaﬁ QOBNEO @%ﬁ@ﬁd&aﬁ TPEE WOINTTY 3@@@%&%5.
Figures in the right hand margin indicate maximum marks for the
question.

BIBIFODD, LOZRYLY 15 AMAY DOIBTIF) K003, LOIORD
ANBBAROT AROHTRY, BIBLF0H eTYRIY FATOINT.

The maximum time to answer the paper is given at the top of the question
paper. It includes 15 minutes for reading the question paper.
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L.

& IENT IIJNIN ©FD0 WTPOE TEPIRAIR T, SON,ATRRY NTUING. YYINTY
éw% RRTTIT YVZTHTY, 508, @mgdc&@o@ﬁ TOWD : 10x1=10
Four alternatives are given for each of the following questions / incomplete

statements. Choose the correct alternative and write the complete answer along
with its question number and alphabet :

1. &3%° Br® A0LITTAOT W93 Bt AoL3TTEIN DA TLOAT THTTZY &en

3003033
(A) e3pco® (B) BREI
(C) 2oRTT WIFE (D) ROCTID WRNTOI

Distance travelled by the piston in moving from top dead centre to bottom
dead centre is called

(A) bore (B) stroke
(C) engine capacity (D) compression ratio

2. 33T ROTRED 0TFE, 2,00 YVTIHBTES

(4) ez o (B) =R 3O
(C) =om,03T Bedntdobo o (D) T, £
An example for synthetic lubricant is

(A) mineral oil (B) vegetable oil
(C) refined petroleum oil (D) animal oil

3. BUBATFRY woBa3ReNEOT 2eF PBYT AFH)

(A) BRFSBOINTITT NN (B) W@3&F dpon
(C) BE3R et (D) 39538 <N
The section of the steel frame used in matador is

(A) tubular section (B) channel section
(C) box section (D) square section

4. Bredont 8%%&2 L9TIO0WATIT 03

(A) TOTIT T (B) S0m3IT ©73

(@) 5@&@63&555 Y ¥TT TT (D) oX 33@&3;56(5 SRNE
Rolling resistance depends on

(A) mass of the vehicle (B) body profile of the vehicle
(C) acceleration and its rate (D) materials of the road surface
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5.

3 88-EK (Level-2)
Zéojoo tAplIct C3evelao sésgosa@ B3 I$TOT m%éﬁ?@ Wﬁo&@@ﬁz’o@ﬁ

(A) 20TPTIN TITONED (B) OF0 sOTINGD

©) @523@ TOTINGD (D) 2233, SOTINGD

Automatic transmission system is mainly used in which of following
vehicles ?

(A) Luxury cars (B) Light vehicles

(C) Two wheelers (D) Three wheelers

OTIT @6@)&’9 RETIS REONT ﬁé@égwﬁ LETRRATOST TEIT

(A) e=nes (B) Be3® e3¢ 7633

(C) & YWF T DY (D) 3&3H

The part which is fitted into the charging circuit of auto electric system is
(A) alternators (B) cut-out unit

(C) ignition coil (D) spark plug

QORYT WEN FR T 3CLNH TREARRTTY, SEODLL WIBRATLE N

(A) —;’e,gjaéoja@ &Q&G@ (B) 3pS0t3° &Q&G@

(C) T® QT (D) 8dO® LT

The part which is used to keep the inside of the engine free from dust and
insects is

(A) fuel filter (B) coolant filter

(C) air filter (D) oil filter

OBTEFODNTY, LVBO3RENY 3023 TR DOTIE N
(A) 3TN (B) 25NQOMEL

(C) DN (D) 3&33NED
The part of the vehicle cleaned by news paper is
(A) brakes (B) doors

(C) axles (D) windows
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II.

9. 5@@30@35&952{ WTOITH I9TITIN YVTO3IRENZE TN, / YOTITD
(A) mﬁ@e (B) 29O=% A 3 c\%wc"
(C) TNT BRS® oI w@% (D) C\é’d ZNE mFes® Jous®
The material(s)/tool which is used for changing the coolant is
(A) Pan (B) Phillips screw driver
(C) Paper towel and rag (D) Drain plug socket wrench
10. TOTIT BANTTUTY, TIBID) @&23 TRT BOAT J03T WTSICWRWEBD ?
(A) 53?:’51 15,000 3.c0¢. — 7165’5: 30,000 3.cx€.
(B) %’Z’S&O 25,000 3.c0¢. — ﬁ@e"’g 35,000 3.c0e.
(@) 53?:’51 35,000 3.c0¢. — 7165’5: 40,000 3.c€.
(D) %’Z’S&O 4000 3.e0¢. — 7163"51 15,000 3.c¢.
Vehicle oil should be changed after the vehicle travels the distance of
(A) Minimum 15,000 km — Maximum 30,000 km
(B) Minimum 25,000 km — Maximum 35,000 km
(C) Minimum 35,000 km — Maximum 40,000 km
(D) Minimum 4000 km — Maximum 15,000 km
APRTZIT YVZTHOT ’Sﬁéésdad g@w@ P3E W& ¢ 4x1=4

Fill in the blanks with suitable answer :

11.

12.

13.

14.

DTTEBIONTY, LVTVLRT AT E BPODTHT e3E3 0030030 e3LI0 20T

An automotive battery is an ................ device capable of producing
electrical energy.

RENTNTT D02 WFT TRET AWTIBEY, ROV oo, PO
POTO3RENTTYT.

A tachometer is a measuring instrument that measures the .............. of an
engine.

MmO 3003 %6’55 CORNICHONIC R O, TR m@gﬁ
Wheel balancing helps in minimizing tyre bounce and ................. .

m&aﬁd@ aﬁaaaidaw QOGS o,?aegszﬁ ..................... O3 TR mmgzﬁ

The clogged fuel filter reduces ............... in the vehicle.
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A-c?)‘é,go.)’:@ T[T Cﬁod% YUTTTEINT Y B-a’égojaQ WRING  LVTOIRENTRY
BRTOONT. WPNTRY, TR0V YVITNTTY, i\:”)m%;dzﬁ.@o@ﬁ W3O 1 4 x1=4

Automobile service tools are given in Column-A and their uses are given in
Column-B. Match them and write the answer along with its letters.

A-c—u’ég / Column-A B-a’ég / Column-B
i) SINNDES a) QT ASICH) DO FooRENYN
Hydrometer POBO3RENZCRMHIT
used for accuracy and easy operations
ii) Eﬁa%&aewﬁ b) @& maé 03T WLOINT YVJTTD
Multimeter precise measuring tool
iii) o° éo%ﬁ c) 8)3853 rbdoés @3 BPET YVTITD
Air compressor specific gravity measuring tool
iv) YON0T IBRO d) ﬁ@%’ds‘“’arﬁ@é@ TIOALD W) WRP) WIS
PVTTTEANGD EYBIeVTS
Pneumatic wrenches device used for cutting and sharpening
tools
e) TIYOD Mg, IR Z[p& MR wIE

increases the pressure of air by reducing
the volume

f)  Spegeess, Navicy) DR T8RS
eﬂ%?o:bagﬂ
used to measure voltage, current and
resistance

g 3BOR TR TN, BRDILRT G

device to hold the operation tools

IV. 338 3$N3 e"’aﬁﬁ@?ﬁ QUZ0R : 6x1=6

Answer the following questions :

16.

17.

18.

19.

20.

NGGONG ﬁﬁfuoja @55 %’é’ﬁ@cﬁa BAND.

Wr1te the requlrements of steering system.

S0®)TOTI ﬁéﬁrgoja O339)TIITITR RTT LINNTZY ﬁéa S8,

List any two components of cooling system.

MTRIFON NEATRDT Oy SRR F0aER DT THOWEMCRTY F©
[T @oﬁooﬁa@ U\)ﬁo&@@ﬁ:’o@g& 23 ?

Grease gun is used as a common workshop and garage tool for lubrication.
Why ?

TOTS WS T %M@%mﬁ SRIRGRICTIT T00N,ZTD FFNED 03 ?

What are the precautions to be taken during vehicle washing ?
053 g% MTBENT TS FOTON SITTIT. ISP R,

"Blind spot detection is a boon to vehicle drivers. Justify.
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VI

21.

MORTPAYEY LYRROE B0RY 1970 39 SemOR BOWAT oA
03THTH ?

Which company introduced car with air bags for the first time in the year
1970 ?

83 39N TZNOR YLZ0A 6x2=12
Answer the following questions :

22.

23.

24.

25.

26.

27.

ROQCTD WDTIZHY méaraééb%. ﬁ@&@eeﬁ RQORT® F REFGT QRIS
FODCTRD LIRTOI 20TOWDO.

Define compression ratio. Write the compression ratio for petrol engine and
diesel engine.
@@eo/ OR

230D O3VITOTIL T, WRVFRONTTY W3AN0.
Write any four advantages of a battery.

T80 SRetId RORIE WSy WIW, 3BBBODTY, HTHI2.

Draw the diagram of Wankel rotary engine and label spark plug.
@@eo/ OR

BF BPLoDH QOB APT BYUT BB, W, FIFONE TaEE DTSR,

Draw the diagram of metric system engine displacement and label
connecting rod.

DT ﬁpea—; OF°, 2R €3368 B0,
Write a short note on two-post lift.

R0RTE BONSE T BN &%65 WTCORBN FITZY xen %gﬁ@@xzﬁ%’a ?
How to prepare your car to change the engine oil filter ?

pDkeek:s RETI0D TN WOBNTTY ﬁéésdb‘a@.

List the important aspects of customer service.

T[T Zbdﬁd 30%&3@55@23 %GS %Eﬁﬁ S0E3DONE 5235?5053 &)ﬁ NTOA.

Explain tyre pressure monitoring system in car safety technology.

3 IYNT BZNROR YZ0R 4 x3=12
Answer the following questions :

28.

29.

?DQ)CSD :’u%c"sé)‘ﬁs I IOM 5%%56 STRAD ﬁé@éﬁﬁﬁﬁ@i BAN0.

Differentiate between soft suspension and hard suspension.

mmﬁé 5@565’37@@ ZLO0INT NPITDOT YVTOIRCNTWCTH Tone FDOIWT
AR T @ﬁéé. 23 ?

General tools should be properly handled and a proper procedure should be
adopted. Why ?
@@&9/OR

&,0° Qe3t Y Bos® IFNI 5253?25571%35& BON0.
Write the differences between drill bit and punch.
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VII.

30.

31.

DECKS 635565@ TR D03 IV &mﬁmﬁﬁa N30,

Explain t?le method of washing a vehicle at serv1ce station.

@@@65@%@6 SPTRIMWTD  ABELADE  OIDITBIR ST IIESNTT
23000.

Write any six duties performed by the automobile sales person.

83 39N TZNOR YZ0R ¢ 3x4=12

Answer the following questions :

32.

33.

34.

e, AR £5° Bneos @oRa® BT WATH PIRRYEY TSR,

Draw the diagram of four stroke petrol engine and label the parts.
@@eo/ OR

2T WITy, WO LPRATRY, TOTHA.

Draw the diagram of chassis and label the parts.

@m@m%@e Cjadé)ojaez NVJO3RCNENT B3 YT % VDTTNG
mﬁo&@em@;s& 23000 :

) Pot
i) A
ifi) 09,865

iv) 0" GpL{on
Write the uses of the following automobile service hand tools :
i) File
i)  Snips
iii) Mallet
iv) Hand hacksaw
@@/ OR
eﬁéiraefwa%@@ Eﬁ)dﬁ’go\’b@ VTJO3RCNENT B3 ISTOB D3R YVJBITEINS
POTO3RENNRYY, 22TAWN0 :
i) PTELT W HROINT WFT
ii) &3 3o
iii) e3oe3® Soes®
. =2 =
iv) R, 0% PHQT®
Write the uses of the following automobile service special tools :

i)  Universal clutch holding tool

ii) Torque wrench

iiij Tappet wrench

iv)  Flywheel puller

QOB BRSO WY AONWTEN WETICNIOTT QBT ¢S TOOWIME
TOFOBINSE ? 0RI® TRS0L®T WTCICNA TOSNTIY 2:0R.

What are the effects on an engine, if the coolant of the engine is not
changed regularly ? Explain the steps of changing the engine coolant.
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